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Eile : ;ru'neexe ﬁ!
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Linker Info :
File Size : an

Image is 32bit executable
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vi[e] = v7;
vi[1] = v8;
vi[2] = v9;
vi[3] = v16;

*(_DWORD *)&v12[17] = @;
while ( *(int *)&v12[17] <= 15 )
{
if ( *((char *)v1l + *(_DWORD *)&12[17]) > 64 && *((char
*((_BYTE *)vl + *(_DWORD *)&12[17]) = (*((char *)vl +
if ( *((char #)v1l + *( DWORD *)&s12[17]) > 96 && *((char
*((_BYTE *)vl + *(_DWORD *)&v12[17]) = (*((char *)vl +
++%(_DWORD #*)&12[17];
¥
*(_DWORD *)&v12[17] = ©;
while ( *(int *)&12[17] <= 15 )
{
result = (unsigned __ int8)v12[*( DWORD *)&v12[17]];
if ( *((_BYTE *)vl + *(_DWORD *)&v12[17]) !=
return result;
++*(_DWORD *)&v12[17];
H

result = printf("You are correct!”);
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#Yvl + *(_DWORD *)&v12[17]) <= 98 )

*(_DWORD *)&12[17]) - 51) % 26 + 65;
#Yvl + *(_DWORD *)&v12[17]) <= 122 )
*(_DWORD *)&12[17]) - 79) % 26 + 97;

(_BYTE)result )
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1 #include <stdio.h>
2 int main()
- E
4 int b[l6]={@};
5 int a[16]={81,115,119,51,115,1@6,95,1088,122,52,95,85,1086,119,64,1
6 for(int j=0;j<16;j++)
7 {
8 for(int 1=08;i<127;i++)
9= {
1@ int c=8;
11 c=1i;
12 if(i>=65&81¢<=98)
13 i=(i-51) % 26 + 65;
14 else if(i»=07&8i¢=122)
15 i=(i-79) % 26 + 97;
16 if(i==a[3j])
17 b[jl=c;
18 ¥
19 | }
20 for(int 1=€;i<16;1++)
21H {
22 printf("%c”,b[i]);
23 }
24 L }

ith return value 0

[[] Shorten compiler paths

TDM-GCC 4.
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